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1 Answer the following questions in a word/a phrase/ a 14
sentence :
(1) A gerund is a verbal noun whereas a participle is
a/an
(2) Identify the nonfinite verb in the sentence 'l wanted
to talk to you'.
(3) A sentence that consists of multiple clauses connected
by subordinating conjunctions is known as
(4) Theoretically, English has only two tenses: Present
and
(5) The tense of the sentence "They have already completed
it' is
(6) In the tree diagram, represents perfective.
(7) In tree diagram, VG means
(8) Clauses can be divided into main clause and
(9) Use "play" as a gerund in a sentence.

(10) Use "play" as a participle in a sentence.

(11) In the tree diagram of a VG, be + ing stands for

(12) All but you are welcomed since a family member should

not be welcomed, but he/she should be informed. How
many clauses are there in the given sentence?

(13) In FANBOYS, A stands for

(14) Identify the finite verb in the sentence 'You can go out

1

now.
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2. Show the structure of the underlined VGs/VPs with the
help of TreeDiagram : (any seven)

()
(b)
©
)

©)
®
(8)
(h)

(b)

My friends are coming tomorrow.
Teachers should go to class well prepared.
They have been friends since childhood.

Students have been writing the examination for the last
two hours.

India is a beautiful country.
The project would have been completed by 2022.

You should be polite when you talk to elders.
Children are trained properly.

Change the voice of the following sentences : (any seven)
(a) Do it now.

(b) He has been crowned the king.

(¢ Why don't you tell the truth?

() What is being decided?

()  You should not raise your voice.

(g) Students will do it.

(h) We are completing the work.

(1) Are you giving me the right answer?

Turn the following questions into reported speech :
(any seven)

(1) She said to him, "When do you want to finish this
work?"

(2) The students said to the teacher, "Please allow us
to watch the cricket match".

(3) The driver asked the passerby, "Do you know the
way to the market?"

(4) Mohan said to Sheeba, "I have composed a new
song".

(5) The player said, "That is a wrong decision! How
unfair!

(6) "Thank God", he said "We have completed the
homework on time."

(7) The teacher said, "Rohit, I am very happy with
your performance.”

(8) Ramu said to his friend, "You can do it".

14
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4 Short notes :

(any two)

(a) Tense and Time in English

(b) Verb(Finite and Non-finite; Transitive and Intransitive;
Main Verb and Auxiliary Verb)

(c) Sentence(Simple, Compound and Complex

5 (a) Answer the following questions as directed:

(1) Transform the following sentences into simple

sentences: (any three)

(a) He is honest, therefore he is respected.
(b) While he was going home, a snake bit him.
(¢©) You must take special classes or you will not
pass your French examination.

(d) He is sure that he will succeed.

(2) Transform the following into complex sentences:
(any two)
(1) He is too poor to buy a warm coat for winter.
(2) He explained to us the plan.
(3) She borrowed the book yesterday, but she lost

it.

(38) Transform the following sentences into compound

sentences: (any two)

(a)

(b)

(©)

We are convinced that he deserves to win the
first prize.

Though she knew it was raining, she did not
take the umbrella.

Having completed my homework, I went out

to play with my friends.

14
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(b) Fill in each of the numbered blanks with the correct 7
form of the word given in brackets. Do not copy the
passage, but write in the correct serial order, the word
appropriate to the blank space.

Last Sunday, I 1 (meet) my friend at the railway
station. He said to me, "I 2 (be) on the way
to Mumbai to join my family after five long years".
While we 3 (talk), I 4 (hear) the
announcement, "The train to Mumbai 5 (leave)
the station shortly". The train had 6 (be) there
for half an hour. Hearing the announcement,
he 7 (get) into the train and it started moving

in two minutes.
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